
2.2.

Mięśnie żucia to: ..........................................................................................................................

.......................................................................................................................................................

Zaopatrują one staw ..................................................................... o ............ stopniach swobody

ruchu, ................... klasy pary biokinematycznej.

Opisz rysunki:

Rys. 74
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